
Samsung Electronics 6-1

6. Exploded View and Parts List

6-1  Cabinet Assembly (DVD-R130)  - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

6-2  Cabinet Assembly (DVD-R131)  - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -  

Page

6-2

6-4



Exploded Views and Parts List

6-2 Samsung Electronics

6-1 Cabinet Assembly (DVD-R130)

C001

A001

S.N.A.: Service Not Available

H001P001

P022

W009

FL261

W009
W200

W272W272

W272

W268

W275

P007

W009

W275

W272P025

C015

C002
C657



Exploded Views and Parts List

6-3Samsung Electronics

Loc. No Parts No. Description ; Specification                                             Q’ty   S.N.A        Remark

A001 AK59-00055B REMOCON-ASSY;DVD-R130/XEG,SEC,197.5*48*2 1 SA
C001 AK97-01447C ASSY-CABINET FRONT;HIPS 94HB,DVD-R130,XE 1 SA
C002 AK64-01432A DOOR-TRAY;DVD-R130,ABS 94HB,T2,H15,W150, 1 SA
C015 AK64-01375A CABINET-TOP;DVD-R110,PCM,T0.6,W430,L220, 1 SA
C657 AK64-01433C DOOR-JACK;DVD-R130/XEF,ABS 94HB,T2,H20,W 1 SA
FL261 3809-001804 FFC CABLE-FLAT;30V,80C,55mm,13P,1mm,UL20 1 SA
H001 AK97-01553A ASSY-LOADER;-,SV-R3600,LOADER ASSY 1 SA
P001 AK92-00928A ASSY PCB-MAIN;DVD-R130/XEG,PAL 1 SA
P007 AK97-01530A ASSY PCB-KEY PCB;SV-R3600,ANDES 1 SA

AK92-00822A ASSY PCB-JACK;DVD-R130/XEU,DVD Recorder 1 SA DVD-R130/XEG
AK92-00822A ASSY PCB-JACK;DVD-R130/XEU,DVD Recorder 1 SA DVD-R130/XEC

P022
AK92-00822A ASSY PCB-JACK;DVD-R130/XEU,DVD Recorder 1 SA DVD-R130/XEU
AK92-00822A ASSY PCB-JACK;DVD-R130/XEU,DVD Recorder 1 SA DVD-R130/XEN
AK92-00822A ASSY PCB-JACK;DVD-R130/XEU,DVD Recorder 1 SA DVD-R130/XEO
AK92-00822B ASSY PCB-JACK;DVD-R130/XEF,SECAM 1 SA DVD-R130/XEB
AC39-10019A CBF-POWER CORD;KKP-419C,H03VVH2-F,VDE/KE 1 SA DVD-R130/XEG
AC39-10019A CBF-POWER CORD;KKP-419C,H03VVH2-F,VDE/KE 1 SA DVD-R130/XEC

P025
AC39-10019A CBF-POWER CORD;KKP-419C,H03VVH2-F,VDE/KE 1 SA DVD-R130/XEB
AC39-10019A CBF-POWER CORD;KKP-419C,H03VVH2-F,VDE/KE 1 SA DVD-R130/XEN
AC39-10019A CBF-POWER CORD;KKP-419C,H03VVH2-F,VDE/KE 1 SA DVD-R130/XEO
AC39-12022K CBF-POWER CORD;AT,,GP2,HOUING(2P), 1 SA DVD-R130/XEU

W009 6003-000276 SCREW-TAPTITE;BH,+,-,B,M3,L10,ZPC(YEL),S 8 SA
W200 6003-001375 SCREW-TAPTITE;BH,+,B,M3,L8,ZPC(YEL),SWRC 2 SA
W268 6003-000254 SCREW-TAPTITE;BH,+,-,S,M3,L6,ZPC(WHT),SW 1 SA
W272 6003-001464 SCREW-TAPTITE;BH,+,B,M3,L10,ZPC(WHT) 6 SA
W275 6003-001561 SCREW-TAPTITE;BH,+,-,B,M3,L6,ZPC(YEL),SW 5 SA



Exploded Views and Parts List

6-4 Samsung Electronics

6-2 Cabinet Assembly (DVD-R131)

A001

S.N.A.: Service Not Available

H001P001

P022

W009

FL261

W009
W200

W272W272

W272

W268

W275W275

W272P025

C015

C001

P007

W009

C002



Exploded Views and Parts List

6-5Samsung Electronics

Loc. No Parts No. Description ; Specification                                             Q’ty   S.N.A        Remark

A001 AK59-00055B REMOCON-ASSY;DVD-R130/XEG,SEC,197.5*48*2 1 SA
C001 AK97-01464C ASSY-CABINET FRONT;HIPS 94HB,DVD-R129,06 1 SA
C002 AK64-01690A DOOR-TRAY;DVD-R135,ABS 94HB,T2,H15,W150, 1 SA
C015 AK64-01375B CABINET-TOP;DVD-R130E,PCM,T0.6,W430,L220 1 SA
C657 AK64-01691C DOOR-JACK;DVD-R129/XEF,ABS 94HB,T2,H15,W 1 SA
FL261 3809-001793 FFC CABLE-FLAT;30V,80C,90mm,40P,0.5mm,UL 1 SA
H001 AK97-01553A ASSY-LOADER;-,SV-R3600,LOADER ASSY 1 SA
P001 AK92-00928B ASSY PCB-MAIN;DVD-R128/XEG,PAL,W/O DV 1 SA
P007 AK92-00958A ASSY PCB-KEY;DVD-R129/XEG,PAL,A2 TOOL 1 SA
P022 AK92-00822K ASSY PCB-JACK;DVD-R129/XEG,PAL,W/O DV IN 1 SA
P025 AC39-10019A CBF-POWER CORD;KKP-419C,H03VVH2-F,VDE/KE 1 SA
W009 6003-000276 SCREW-TAPTITE;BH,+,-,B,M3,L10,ZPC(YEL),S 8 SA
W200 6003-001375 SCREW-TAPTITE;BH,+,B,M3,L8,ZPC(YEL),SWRC 2 SA
W268 6003-000254 SCREW-TAPTITE;BH,+,-,S,M3,L6,ZPC(WHT),SW 1 SA
W272 6003-001464 SCREW-TAPTITE;BH,+,B,M3,L10,ZPC(WHT) 6 SA
W275 6003-001561 SCREW-TAPTITE;BH,+,-,B,M3,L6,ZPC(YEL),SW 5 SA



Exploded Views and Parts List

6-6 Samsung Electronics

MEMO


	6-1 Cabinet Assembly (DVD-R130)
	6-2 Cabinet Assembly (DVD-R131)

